—_—

T
/}J /‘L‘),(/ﬂv,)

Math 473 Quiz 3 Spring 2017

YOU ARE BEING GRADED FOR WORK
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1) The Lindsey (2004, p. 280) data is for survival times for 234 women with stage 2
cervical cancer studied over a 10 year period. Use the life table estimator to compute the |
estimated survival function S 1(t;) by filling in the table below. Show what you multiply

to find SL( ;). Then plot the function.
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2) Times (in weeks) until relapse below are for 12 patients with acute myelogeneous
leukemia who reached a state of remission after chemotherapy. See Miller (1981, p. 49).

9, 9, 8§, 8, 12, 164, 23, 27, 30, 33, 43, 45

Compute the Kaplan Meier survival function Sk (t;) by filling in the table below. Show

what you multiply to find Sk( i). Then plot the function.
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